Divide by Negative Powers of Ten (F)

Find each quotient.

22 +0.001 = 84 - 0.01 =
53+0.1= 94 - 0.001 =
10 +0.01 = 7 +0.001 =
28 +0.01 = 52 +0.001 =
63 +0.1= 17 - 0.001 =
65+ 0.01 = 37 +-0.01 =
73 +0.01 = 57 +0.1=
24 +0.1= 79 - 0.1 =
47 +- 0.1 = 92 +-0.1=
66 - 0.01 = 48 - 0.1 =
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Divide by Negative Powers of Ten (F) Answers

Find each quotient.

22 +0.001 = 22,000 84 + 0.01 =8,400
53 +0.1 =530 94 =+ 0.001 =94,000
10 +0.01 =1,000 7 +0.001 =7,000
28 +0.01 =2,800 52 +0.001=52,000
63 + 0.1 =630 17 +-0.001 =17,000
65+ 0.01 =6,500 37 +0.01=3,700
73 +0.01=7,300 57 +0.1=570

24 + 0.1 =240 79 +0.1=790

47 - 0.1 =470 92 +0.1 =920

66 + 0.01 = 6,600 48 = 0.1 =480
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